IR RIEBE20255E e AR A “HEHE” EAZAZ R

EERS 24 HRER5 RETHRSE SMERE | dkSZF— | USSR | DiRE s | IRESID
100485100000002 *§e TER R (5 ) RESAHAR 63 73 73 209 IE
100485100000008 *ENR TER R (5 ) RESAHAR 69 83 90 242 B
100485100000009 “RiE RER R (50 ) RESAHAR 69 60 80 209 IE
100485100000014 *EEE SER HKEISTEIBICHR 66 69 79 214 R
100485100000015 g SER HKEISTEIBICHR 68 63 79 210 R
100485100000020 *EI SER HKRISTEIBICHR 69 73 71 213 BiK
100485100000022 2= SER HKEISTEIBICHR 50 83 83 216 BiK
100485100000026 *ELE SER HKEISTEIBICHR 67 80 76 223 HilEE
100485100000031 *RAL BEEAR WRIFESEAHAR (FEIRIT) 79 61 80 220 XUZSHK
100485100000032 “IRF BEEAR WRIFESEAHAR (FEIRIT) 49 91 75 215 XUZSHK
100485100000035 “EHIR BEEAR WRIEESEAHAR (FEIRIT) 48 80 80 208 B
100485100000036 =] BEEAR WRIFESEAHAR (FSIRIT) 47 93 85 225 VANYE:
100485100000039 “|ip FEAEAR WRIZESEAHAR (FEIRIT) 62 73 75 210 VIRYE,7
100485100000041 55 BEEAR WRIZFEEARAR (FEFEIER ) 58 85 85 228 SRIHER
100485100000045 *F BEEAR SRIEESFEATAR (KTt ) 60 60 85 205 B
100485100000049 *I BEEAR WRIZEEEATHAR ( AIER ) 68 72 74 214 FiNRLT
100485100000051 “EE BEEAR WRIZEEFEATHAR ( AMIER ) 72 88 90 250 FINBRAT
100485100000052 *1]\7K BEEAR WRIFEEFEAHAR ( AMIER ) 68 80 80 228 FiNRLT
100485100000054 “ER FEAEAR WRIZEEEATHAR ( AMIER ) 72 78 75 225 FINBRAT
100485100000055 Wi FEAEAR WRIFESEATHAR (AMIER ) 76 90 93 259 FINERAT
100485100000057 *E§ RIS ER X 61 70 70 201 SUIEEl
100485100000060 85 RIS ER X 58 83 86 227 SUIEE]
100485100000061 S RIS ER X 41 78 83 202 SUIEEl
100485100000062 w5 RIS ER RISES 70 71 73 214 737
100485100000063 *E5E RIS ER RISES 78 92 86 256 173
100485100000065 Bt RIS ER RISES 75 94 90 259 173
100485100000066 *fRih RIS ER XRIZEF 61 92 86 239 173
100485100000067 % RIS ER XREIZEF 70 72 70 212 AR
100485100000068 e RIS ER RISES 88 78 81 247 AR
100485100000070 B RIS ER FRERKERSEIS 68 89 85 242 BER
100485100000074 *I SRS ZR FRERKERSEIE 65 90 92 247 mER
100485100000075 *Brig RIS ER FRERKERSEIS 66 78 80 224 BER
100485100000077 *|ih RIS ER FRERKERSEIE 67 85 85 237 TER
100485100000078 kA RIS ER FRERKERSEIS 69 88 75 232 WER
100485100000080 e RIS ER FRERKERSEIS 78 78 75 231 TER
100485100000083 *Fi RIS ER FEERISIS 72 92 93 257 HER
100485100000084 *ER RIS ER FEERISEIS 62 78 86 226 =R
100485100000085 T RIS ER FEERIEHEIC 56 88 76 220 SKES
100485100000087 B RIS ER FEERIEHEIC 61 91 75 227 SKES
100485100000088 *RH5 RIS ER FEERIEHEIC 59 94 93 246 SKER
100485100000090 B RIS ER B2 53kl 48 85 83 216 SUIEE]
100485100000091 g etad RIS ER B2 Skt 41 70 75 186 SUIEEl
100485100000094 *SHE EREIR BERRIFREZSAHAR 68 86 87 241 PEMEkES
100485100000099 *Behh EREIR BERRIFREZSAHAR 52 92 94 238 SBRE
100485100000109 =10E) WRIHBE R KRIHEZEHCHR 68 90 82 240 SUIEE]
100485100000116 SEF SRIEER BRI SR 55 81 93 229 =
100485100000120 S SRIEER BRI SR 71 78 72 221 =5
100485100000121 *E0R SRIEER BRI SR 54 88 85 227 e
100485100000124 *7¥58 SRIEER BRI SR 64 81 85 230 =5
100485100000127 *E=2h FESEEMAR R ZAHAR 88 91 75 254 HITE
100485100000130 *ehlg FER/EBILAR R ZAHAR 59 67 84 210 HIrZE
100485100000131 *&F FER/EBILAR R ZAHAR 68 84 88 240 HIrZE
100485100000132 *PEEE FER/EBILAR BEEAMR 68 84 90 242 RIE
100485100000133 *Sfh FER/EBILAR R ZAHAR 53 81 80 214 HIrZE
100485100000136 I8 FER/EBILAR R ZAMAR 58 89 79 226 b
100485100000138 *RSA FER/EBILAR R ZAHAR 73 75 72 220 b
100485100000139 e FER/EBILAR R ZAHAR 69 80 72 221 b
100485100000141 “YI'Rg FER/EBILAR BEEAMR 59 77 76 212 s
100485100000143 R FER/EBILAR R ZAHAR 73 65 78 216 b
100485100000145 B FER/EBILAR R ZAHAR 80 64 80 224 b
100485100000158 B FER/EBILAR FRESIAT 71 85 85 241 ==




100485100000165 *RIT SR FEE SIS 61 90 ) 241 e
100485100000167 *BR4T FEE/EBIIER FEE ST 74 85 84 243 e
100485100000173 *XEE FEE/EBIIER FEESVIAT 79 80 89 248 e
100485100000174 58, FEE/EBIIER FEE SIS 82 80 82 244 Zbgen
100485100000175 =2 SR FEE SIS 80 90 92 262 Zbgen
100485100000176 *JE =222 RIS FEESVIAT 82 83 86 251 Zbgen
100485100000187 *R SR FEE SIS 72 83 86 241 e
100485100000191 B FEE/EBIIER RMEBES ZAHAR 75 88 89 252 XI=F3
100485100000197 “4R1Y FEE/EBIIER RMEBES ZAHAR 66 83 95 244 XI=F3
100485100000199 “FHB FEE/EBIIER RAMEBES ZAHAR 51 92 92 235 XI=F3
100485100000204 “ER AXEE BlAS L= 73 81 80 234 SimeE
100485100000206 i, AXEH BAS = 70 86 86 242 SmE
100485100000210 = FREXRIS AR RS IR0 RIS BR Srell R R 54 83 82 219 Hh=

100485100000212 *IRR FREXRIS R RS IR O RIS R Sl R R 77 87 84 248 Hh=




